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No. 40 B¥ 50m B B A L L— R R

L BEIFE >

BfL. K 4 i B 2E KE =
1 B 2w YA SS 11 11/ 8 28.23 Otk
2 FHHE K J S S5FIL 110/ 2 28. 66 ik
R N/ 7 48S SHERE 1 11/ 1 28. 68 9%k
4 K¥ HE J S S5Fl 1 7/ 2 29. 63 8k
5 A BiE J S S5FIL i1 9/ 1 29. 87 T#%
6 AP BLAk 1toSWIM H1 8/ 4 29.90 %
7 VED FGIRS S M1l 6/ 8 30.23 %
8 f&H B BIGT = 1 5/ 2 30. 24 Tk
9 PEATEKEA B — KSR 1 7/ 7 30. 31 Tk
10 & H  AlEk J S S5FIL ] 7/ 8 30. 56 %
11 #H fLH V hET /N Hil 7/ 3 30. 82 TH%
12 | 2 JSS—& 1 4/ 2 30. 85 Tk
13 AR Bk EfFE S C 1 6/ 6 30.97 6%
14 KW A v 4 LKA 1 6/ 1 31.00 6k
15 g st A4S S 1 6/ 7 31.12 6%
16 gk da=h A SS 1 7/ 1 31.24 6%
17 /NG IKIE HERERS S 1 4/ 4 31.30 6k
18 AR ELH KLEERH 1 4/ 7 31.37 6%
19 fez sk J S S5FI 1 3/ 3 31.39 6%
20 PAH: Jili EfFE S C 1 5/ 3 31.92 65
21 "R R Z8kS SrEA Tl 3/ 2 32.19 5%
22 &% Hik YA SS =oh] 5/ 5 32.46 5#%
23 HRE Stk Y 4SS Ml 3/ 8 32.56 5k
24 HH BK J S S5Fl Ml 5/ 7 32. 64 5k
25 KA Y B — M5 ad! 2/ 6 32.72 5%
26 K £=& KLEERH 1 1/ 5 32.82 5k
27 Ll ZEff J S S5FI 1 4/ 8 33.09 5%
28 i FH 8 R ER 7 4 VR H 1l 4/ 1 33.13 5k
20 FAH: Bk Y 4SS 1 3/ 4 33. 34 4%
30 Bk AR TUANEIT Pl 3/ 1 33.48 4%
31 Mk fErE K L&A Ml 1/ 2 35.03 3k
32 By ZRbh JSS—& 1l 1/ 4 35.17 3k
33 Eify KRB YA SS 1 1/ 3 35. 87 21%
34 HA FEEE RS —=—R ] 1/ 6 36. 04 2%
35 B nrr7 vy Rl 1/ 7 39. 01
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L HE2E >

B K 4 r & 2E KK L=
1 KM 2 J S S5Fl 2 13/ 7 26. 88 9%
2 )IIH  FH%E VT2 2 11/ 7 27.16 9%
3 /N D 4 VK 2 9/ 3 28.19 8H%
4 FK EKiE ' b TEM 2 11/ 3 28.36 8k
5 /NFE KK PN H2 9/ 4 28. 94 %
6 g AhA RS —=—=RX  thQ 9/ 6 28.97 Tk
(-7 N V hET 5= 2 8/ 2 29. 44 TH%
8 7k BfE KA ' — hSFIL 12 9/ 5 29.59 6%
9 JINE AL RS —=—X 12 6/ 4 29.75 6%
10 PsE8 gioK 7T A NMEIT 2 8/ 1 29. 87 6%
11 Rf &G Y4 SS 12 8/ 5 29.95 6%
12 &H KHE HERERS S 12 7/ 6 29.97 6%
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L HBE2E >

B K 4 i B 2E KK =
13 & #EE Ty N 19 5/ 4 30. 64 5k
14 $2H #BKR fEIRS S 12 7/ 5 31.13 5%
15 flex R B V hET 5 2 5/ 1 31.52 3k
16 FEH #EF VT 5  H2 3/ 7 31.63 5k
17 W] Hypk HERERS S H12 5/ 8 32. 11 45k
18 A8 K J S S5FIL 12 3/ 5 32.12 45%
18 LR 2= J S S5Fl 2 4/ 3 32.12 45%
20 ‘EA = K LEZEHIHF 12 2/ 4 32.17 3k
21 AR R XS SEA 2 2/ 5 32. 67 45
22 JEfE KAy RS —=—2X 2 2/ 3 33.35 3k
23 VEfE  Peos JSS—& 12 2/ 2 33.56 3k
24 WL BEE JSS—& H12 2/ T 34.09 2%%
25 I M =78y Nt 2/ 1 35. 21 Ltk
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L HEIFE >

BEH. K 4 ir B 2E KK =
1 [UHE Kk V T /N H3 0 14/ 2 24. 64 10#%

- JoC

2 Sl = PN F3 14/ 7 25. 66 itk
3 FH Hink JSSHE 3 12/ 3 26. 88 8k
4 A M PEKERS S F3 12/ 1 27.07 8#k
5 YEyT Hrhh ViIET = H3 11/ 4 27. 31 Sk
6 WA Pk RS —=—X 13 10/ 4 27.52 Tk
T RE B JSSKHE 3 12/ 6 27.63 Tk
8 IUH % KLEHFEEH H3 11/ 2 27. 84 TH%
9 JHEAK KE V72 H3 10/ 6 28. 11 Tk
10 4k RIE EfFE S C F3 10/ 3 28. 24 7%
11 75/ = E s V NET N T3 8/ 6 28. 44 6%
12 ARk AR V NET /N 13 6/ 5 28.98 6%
13 )Ilm z24E V FET/NEC 3 8/ 7 29.18 67%
14 B3 Bl FRIRS S 13 9/ 7 29. 25 635
15 KnJ P&} TA NET 3 10/ 8 29. 40 51k
16 I Z=E RS —=—2X 13 8/ 8 29.55 5%
17 i+ 5359 YA SS 3 5/ 6 29. 60 5k
18 = K GRS S 3 6/ 3 29.70 5k
19 V& HBEKER e 3 10/ 1 29.96 5k
20 ¥ Btk KLEEBRH 3 9/ 8 30.17 5%
21 wH Hx GRS S 3 7/ 4 30.52 45%
22 [LH  ZME JSSKHE 13 6/ 2 31.28 45k
23 KB BBE EffeE S C 13 4/ 5 31.37 3k
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B K 4 T & 2E KK =
1 EFIE K 48kS SHE”E ml 13/ 5 25. 80 8#k
2 QYT BiAk 1toSWIM &1 14/ 3 26.16 8
3 Bl EA KLHZFHAH =1 13/ 2 26. 84 T#%
4 YRIT  IKHR RS S =1 11/ 6 27.73 6%
5 AT LK XS SEHER @ml 12/ 8 28. 25 6%
6 Fnig E30) RS —=—X &1 10/ 7 28.70 5k
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B K 4 B 2E KK B FH
7 tEh AN BIGT =3 9/ 2 29. 56 A%

OPN /)Nt b ThH Rt  ®ml 14/ 6 25. 63 8%
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£ &R2FE >

B K 4 & 2E KK B
IR fik =] K LF#&FHH =2 13/ 4 25.38 9%k
2 Ak A B — KSR =2 13/ 3 26.09 8H%
3 B8 K V hET— =2 13/ 6 26. 18 8k
4 )IH EA ZEkS SEA @2 12/ 4 26.72 TR
5 i PR, EE S C =2 11/ 5 27.17 %
6 7alh  AOER 1toSWIM &2 12/ 5 27. 88 6%
0.40 B+ 50m BEHH BALL—R R
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B K 4 ir & 2E KK B
1 ‘Y8 B2 PEKESS S =3 14/ 4 23.99 10#%
2 g A VT —E &3 14/ 8 25. 01 9%k
3 FnH#RI&E JSS—& 3 14/ 1 26.17 Tk
4 P EN 7 4 VKO =3 13/ 8 26.73 TH%
5 feE  thiE ViETY &= &3 13/1 26. 77 TR
6 78)IkE—BA KLWEEHH &3 12/ 7 27.87 5k
T ER WE VIETY =" &3 12/ 2 28. 05 5k
N &P B SHAREME &3 14/ 5 24.99 9%
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